Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria

Complete Spare Parts List of
Martin LightCorder

02005106 C165 CMOS 16 bit processor 25MHz
02011501 M41T56 timekeeper, SRAM, SMD
02031504 32Kx8 Static RAM , SMD,SOP

02035522 28F400, 256Kx16 flash PROM, PSOP 44
02039004 Smartmedia flash card, 64mb, 3.3V
02050103 74 HCT 32 QUAD 2-INPUT OR ,SMD
02050106 74 HCT 132 Quad Nand Schmitt trig, SMD
02050108 74 HCT 138 3 TO 8 DECODER ,SMD
02050113 74 HCT 245 Octal Bus tranceiver,SMD
02050118 74 HCT 574 OCTAL LATCH ,SMD
02050120 74 HCT 4051P 8-1 MUX ,SMD
02050303 74 HC 14 HEX inverting Schmitt Trig,SMD
02050613 74 LVC 245 Octal Bus trans,SMD
02105209 LP2980 3.3V 50mA Volt Stab. ,SMD
02105401 PSVP 35, 85-253V, 5V/1,5A SMPS
02121601 ADM 706 AR, supervisory circuit, SMD
02121805 75C176 BiCMOS RS485 Transceiver SMD
02121821 ADM 202EARN ,RS232 Seriel Transceiver,SMD
02200505 PC 400 Opto photo IC ,SMD (PC900)
02205006 Display, LCD, 4x20 char, blue

02300401 BC 847B, SMD

02301201 BC 857B,SMD (BC557)

04000220 47pF, 100V, ceramic

04010248 100nF, 100V, film

04050152 22nF, 50V, ceramic, SMD

04050168 470nF, 50V, ceramic, SMD

04050217 27pF, 63V, ceramic, SMD

04050220 47pF, 63V, ceramic, SMD

04051136 1nF, 50V, ceramic, SMD 0603

04051160 100nF, 16V, ceramic, SMD 0603
04082112 1uF, 16V, tantalium, SMD

04082116 2.2uF, 16V, tantalium, SMD

04150300 100 Ohm Resistor

04170000 0 OHM RESISTOR, SMD

04170240 33 Ohm, resistor, SMD

04170256 47 Ohm, resistor, SMD

04170308 120 Ohm resistor, SMD

04170332 220 Ohm resistor, SMD

04170340 270 Ohm resistor, SMD, 1206

04170700 1MO OHM RESISTOR, SMD



04171132
04171400
04171432
04171540
04171600
04171700
04176440
04176464
04176488
04176500
04176532
04176564
04190303
04200201
04200202
04222001
04301001
04307002
04307004
04310001
04310002
04310018
04350001
04350018
05000600
05120201
05120701
05123001
05123406
05123413
05143001
05144060
05144403
05144442
05144541
05144542
05147001
05323201
05323301
05323411
05324503
05324504
05343101
05343201
05343411
05501201
05550070

2.2 OHM RESISTOR, SMD 0.25W

1K OHM RESISTOR, 1% ,SMD

2K2 OHM RESISTOR, 1% ,SMD

27K OHM RESISTOR, 1% ,SMD

100K OHM RESISTOR, 1% ,SMD

1M OHM RESISTOR, 1% ,SMD

2K7 OHM RESISTOR, 1% 1/10W, SMD 0603
4K7 Ohm resitor, 1% 0.W, SMD 0603

8K2 OHM RESISTOR, 1% 1/10W, SMD 0603
10K OHM RESISTOR, 1% 1/10W, SMD 0603
22K OHM RESISTOR, 1% 1/10W, SMD 0603
47K OHM RESISTOR, 1% 1/10W, SMD 0603
100 Ohm 2 Watt Resistor

100 ohm resistor, 1W, SMD

10KOHM RESISTOR, 1W SMD

10K Ohm Lin Fader 60mm

BAS32L-115 (1N4148), SMD

6V8, diode transil

Diode transil, 10V

LED 3mm Green

LED 3mm Red

LED 3mm, yellow, bulk

X-tal 32.768KHz

X-tal 24MHz

Relay 5V, 1A, SMD, PS-5-F, DPDT

Socket for Flash card SSFDC

Jumper, 2 pole, 2.54mm spacing

XLR female 3-pin chassis, PCB, angle, gold
5 pole DIN socket F.PCB

Multiplug 9 Pole DSUB9 Female PCB

XLR male 3-pin chassis, PCB, angle, gold
Header, 40 pole, PCB sil

Plug 20 pole PCB dual in line

Plug 20 pole PCB dual in line schrouted
Head, 20 pole ang PCB schrouded

Plug 26 pole ang PCB schrouded

Mains socket, PCB ,male I.E.C.

XLR female 3-pin cable type, black, metal
XLR 5-pin female cable type, black, metal
Multiplug 9 pole cable female DSUB
Multiplug 20 pole flatcable

Multiplug 26 pole flatcable

XLR 5-pin male, cable type, black, metal
XLR male 3-pin cable type, black, metal
Multiplug 9 pole cable male DSUB

Tact Switch SMD h =9.5mm

Button for controller



05552001
05801001
08010405
08012601
08014401
08050802
08050803
08050804
08052601
08052701
08053811
08054401
08071208
08072701
08073601
08074401
08200102
08200106
08200107
11040507
11501012
11760006
11770001
11820004
11820005
11840024
13104000
15460001
15471001
15471004
15500007
15500008
15802000
17780170
18620020
19200200
19440050
23400760
26641310
26641320
26641330
26641340
33300004
34000042
34102513
34240003
34240006

Knob fader 4x1.2mm shaft ,Black w white line
Batteri 3V Lithium ,PCB

M2x10 screw, Phillips, ph

M2 hex Nut

M2 lock washer

M3x6 screw, Torx, cs, black

M3x8 screw, Torx, cs, black

M3x8 taptite, Torx, cs, black

M3 hex nut, black

M3 hex lock nut

M3x13 stand off, m/f, black

M3 lock washer, black

M4x10 screw, Allen, low, stainless
M4 hex lock nut, PA-insert

M4 blind rivet nut, cs

M4 lock washer, black

2.9x6.5 Plastite, ph, black

4x8 eco-syn, ph, black

5x12 Plastite, ph, black

Wire, yellow/green, 1x0.75#, 18cm
Mains cable I.E.C. 3pin, 1.5 m, Black
Wireset, 20 pole, flat, 230mm
Wireset, 26 pole, flat, 160mm

3-pin male to 5-pin female XLR cable
5-pin male to 3-pin female XLR cable
Null modem cable, D9-D9, m/f
Strap, black, high temp, 2.5x98mm
1x0.7mm jumper wire

Ribbon Cable 26 core

Ribbon Cable 20 core

6x0.25# grey,green,brown,white,yell,pink
2x0.22# Twisted screen cable
Silicon/glas sleeve d=3mm

Spring for MP-2 foot
Window for display 4 x 20 Chr.

Steel handle

Plastic Foot, MP-2

Handle MP-2 ctrl.

Bottomplate for MP-2

Chassis top for MP-2

Chassis side

Bracket plate, memorycard

Felt pad 15x85mm with glue
Cardboard box 2518 Controller
MoelleCell, 50mm

PLAST BAG 180x360

PLAST BAG,600x850mm,Spandepose



35000106 User manual for LightCorder

37000801 Silicon glue clear, low temp. (220-250 ¢C)
55726003 Front plate w. window, LightCorder
62010019 PCB, LightCorder

62011509 PCB, PSU, ctrl., MP-2/LightCorder
62107026 Plug 2 pole w. jumper on 1.

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria




